20134 4527| PR EZH| B

(2 &)
ALE L Al JESH Olel | Y NE3Y [X&YY
2013-10-02 |2|d zt&d §o| 2he 4 Tolds 86,000 7te
2013-10-03 |2/FH(e[H)HF FZ 23 A= 4 |elEAMEIE 28,000 e
2013-10-07 |Q|MH = =& 2@ A3 4 |2FARIE A 69,000 7te
2013-10-11 |3 F 2S5 #&t2 0| S X(gsier =9 Zie 6 [xAT 2slolas 212,000 7t=
2013-10-14 |o|NMYE =7 22 Ay 3 |eFARIEY 35,000 7t=
2013-10-14 |¥FLEa 3 S ™es =9 2t 16 NEEES 631,000 e
2013-10-16 |2|HHF =& 2@ Ay 5 |2EAMR=SEY 69,000 t=
2013-10-22 |2&3|at 748 & 625 A EAL =EF 2 24 10 [&FAIEAXS 245,000 t=
2013-10-25 |Ct2&71Y WXl o ZHe 2 TolHS 22,000 tE
2013-10-28 |MEIXIX| T EL{AQIEE| M SEC AY RF | 14 |dsxnxPaduse 358,000 e
2013-10-30 |@lF AN 5 <& st 2te 2 Aol S 60,000 7=
2013-11-04 |mSZH| 2 20e 5 Ale|E 166,000 =
2013-11-05 (MY L =T =@ A= 5 |elslAE=ad 49,000 7t=
2013-11-05 |Z=&ZFct 2 =X 2y 243 2+ 11 [HFAIBAXS 277,000 eI
2013-11-10 |X(dM)E2 F=2 2@ 4 3 |elEARZE Y 18,000 7=
2013-11-15 |2|H &S HZE <&t AR et 2t 5 |xg7 2sles 30,000 7t=
2013-11-18 (SH ST o o M&s gl 72t 12 |eaxgesaAx 453,000 e
2013-11-19 |2ZALR S X2l dz Q7 2tg 29 |2ElAtr=EE e 324,000 7=
2013-11-21 |Al&HAL F 6F A 0| AL gEHfor =9 7t 9 |RFAIHAXS 339,000 Ite
2013-11-25 |oiu| M Zt=} 2ot =of 2t 18 = TAXS 685,000 =
2013-11-26 |32 T (FH 2&2) 1 |dBAE2RY 50,000 7te
2013-11-28 |2/ zo 37l F A5t S oA gel Zite 6 RIS 120,000 e
2013-11-29 |2|& 2 geo| ZHe 6 |axasxazanxs 72,000 A=
2013-11-30 |2/& =& gl 7+e 6 Aleld s 235,000 7t=
2013-12-02 |°|& 234 gjof ztet 6 Al S 190,000 Ite
2013-12-04 |9|H ¥ FZ 4 7 |QdEAR=EE 149,000 Ite
2013-12-11 |2/™ 45 F& 2y =10 4y 8 |elzlARZE 270,000 7te
2013-12-11 |#|ota]s| At 360,000 | #=
2013-12-12 |2/d 2 F& A 3 [2FARZEY 33,000 7tE
2013-12-13 |PA24 2E o|F ol zte 4 ToleE 38,000 =
2013-12-17 |2d &5 #o z2te 5 |z 2soas 140,000 Ite
2013-12-24 (QHLF =7 A =1 A 7 |2lEARZAY 214,000 te
2013-12-24 |E8%¢9] ol 2dof &k 2t 12 |AFAZARS 451,000 t=
2013-12-27 [o|® & FZF =l =1 A 20 |[2lEAtR=EAY 216,000 =
2013-12-27 |HE{&7| A FZ 2& go 2t 7 |[PIsgHEARS 260,000 7te
2013-12-28 (20144 T 2| X &S0l st gof Zte 12 Al s 280,000 7=
2013-12-30 (2014 % 2|H T FZX =9 ztet 8 |elzlARZE 163,000 =
Al 3724 7,397,000




20134 427| HFF2le| S7HLHA
(72l &)

ArE L Al =S H ol | HEA| AES2Y (NsYd
2013-10-03 |2013 13 Clo|Lj 2| B AE|Y IR 2t 3 Alel 53,000 | 7=
2013-10-22 | RS AL FHo| 2het 3 Alelds 69,000 |  Ft=
2013-10-24 |MAHHH Alo| oA Hel ZHet 3 Aol 42,000 | IS
2013-12-09 [0l AtAl2] BHed #{o| 7het 4 Aleld S 65,000 | FIE
2013-12-10 |23 2% # o 7te 3 Ael@s 93,000 |  FI=
2013-12-17 |IBF& 3| £7 2 gHeol 2 4 Zo¥S 77,000 | FIE
2013-12-21 (A FA[23| 2P EF el 2te 15 ToUs 474,400 7t=
2013-12-26 |3 oAt et Z2hets| 9 Alel @ 325,000 | 7t=
2013-12-30 |2/ E7|7| A &7 2t 2HEts| 8 Alel 295,000 | FtE

A 974 1,493,400




2013 4&27| YFFTIH| SIS

(29 E)

ALY A HAa=SH ol | HElia (AIESY | XNSsdd
2013-11-06 [M1663| &FAlol 3l M2t Hoi3| 5)7|2Y oel 24E 9 |oEAR=EH 195,000 e
2013-11-08 |H1663| 2AFAl2 3| ®2xt Mais| the] 3|7 L AIUH o) 2He 10 SRS 365,000 t=
2013-11-13 | 1663] 2FAl2l5| Moxt Maf 3 che| o2 el Heo| 2g 9 |eFARIAH 171,000 7t
2013-12-26 |E 80l 9|32 §o| 7t 13 |elg|Atr=E ¢ 244,000 te
2013-12-27 |2z 29z 29 o 2t 3 eSS 60,000 e
2013-12-30 |23 29 &al 2t 12 Aol |E 474,000 e
2013-12-31 [#FAl2l3 o ol 7he 3 Aol dE 24,000 7t=

Al 77 1,533,000




2013W 427 PR ETH| B
(M SX2HE)
AELA HA=H olgl| U AESH K&sY
2013-10-08 [A1652 |FA2| 3| (UA|F]) ol o gfof ZHE HEAMAH 72,000 7I=
2013-10-21 [HHSX|2IH3| o™ &fof e 8lAILI /S 80,000 7t=
2013-11-01 [#H=XI9I23l 2N el 2het JREERNEE 64,000 | 7=
2013-11-19 &3 ths| elot #olS 98 2be YNEEES 155,000 | 7=
2013-11-28 |AFS| =X|AlM T DL 2hErs] atajell BhaH glAlelel S 219,000 | 7=
2013-12-20 [0S X| 2 &4t whot Hof 2he 12|A12l 2l S 144,000 =
2013-12-24 (XM=& 7w 2tH A2 §ol 24 20|A 8| € S 315,000 7tE
2013-12-24 |WR=x|9I23 o\ gel 2het ANEET 18,600 | 7=
2013-12-26 |Al3l=X| 22t M eel 2het 14]Alo 215 519,000 | 7t=
2013-12-27 (X9 435 Y3 3olE 918 2 10|A12 ¥ S 196,000 7tE
2013-12-31 [x|2dt Sald =&Yl Z2H A2 HS 72,000 7t=
A 114 1,854,600




2013 4=7| HFFZH| S/ S

L--Ho© —_ o
AL A Ja=H Ol | HEla MESSH K&YY
2013-10-02 |AHHA|Z 2 A 3} ghot o 9f Z2HE 3 NS 100,000 e
2013-10-14 |2013 Y3 Clo|Lha! HAE|H HIREA 2iet 5 |2sctEARS 175,000 | 7t=
2013-10-29 | XA ZAH &M 3| gbot 3o ZHe 4 NEIEEES 130,000 | 7=
2013-11-05 |=H 5 EX| A5} 39| 2t 4 NEREES 37,000 | 7tE
2013-11-06 |H1668 2ZFA|o|3| AM2xt Mal|5| =H| &9 2+et 7 |MEsfAn 113,000 | 7t=
2013-11-18 |HM[1663 ¥ F Al 2] M2xtH 3 Fd| e 2+ 5 |oslAlR 2R 178,000 | 7t=
2013-11-22 |®1663] &1 FA|23| M2xt Ha 3| of atet gio| 2| 6 KRS 209,000 | 7tE
2013-12-17 |24 ?+ &2 AL #& A 10 NEEES 100,000 | 7=
2013-12-16 |Hl1663| HFAl2| 2| M2Xt &2 3| of Aot 32| ZHE 4 |HME/HAAHA 66,000 7tE
2013-12-04 |2014H of Atot Alo| 9l § 2| ZHet 5 NEEIECES 143,000 | 7=
2013-12-23 |¥F A9 3| 2 S whMubst 39| 7t 9 INEEIEES 240,000 | 7IE
2013-12-26 |85l 9|3 2 o 2+t 10 WNETEZES 260,000 | 7t=
2013-12-24 |21 FA| BEE|0} =M 3ol 2het 8 TolE 266,000 | 7I=
2013-12-30 |2/ 3| 2ol tieh gl 2He 10 | HEaazd 109,000 t=
2013-12-27 |s&4tg UH gtor ol 2 5 Aol E 76,000 7=
A 1674 2,202,000




20134 4=27| HFFTH| ST

KO
ot
oF

LH
Rl
nY

™

il

D0 | Ul | Ol | oul|oul
K ™ ™ ™ ™
=
(@] o (@] (@] o
(@] o o o o
S} S| | ©| o
3 © © ~ L0 )
no @ - ™ m | @
0i0
<
<0
< wo | uo | uo | ulo
Ol w | | ® | w
R | T ||| T
Rl | < < < <
—
Elo|o|w|z
ol
i}
_J._ |_|._.D
W N
H | &
Ho | —
% | K
T | il
RO R 2B g
or| = [ & M| &<
<l lwm| Y
o B =l Rl
KD mo o - <
S L B N
— o o &Y
Rla| o] <
L - <l N
ol ] =
Bl L ®
£ I I
ol | W[ 5| o
wilsis| o
I+ 0 & K0
— ™~ [o0] [a\] [o0]
7]z
o -1 = | = | =
Eo ) I I I =
[ap] w0 [ap] [4p]
| 8| &|&|R




